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// MmFEGRT, TS
#define lson (rt << 1)

}‘A%ﬁéfﬁéﬁﬁﬁﬁj #define rson (rt << 1 | 1)

A PLIXFE T // rtRYH FRXESEE[L, r]
. void Build (1nt rt, int 1, int r) {
Build(1, 1, n); tree[rt].1l = 1;

tree[rt].r = r; //%ER{ERNYHIL
if (1 ==r) { //EIMES

tree[rt].sum = tree[rt].max = a[l];
return;

}

int mid = (1 + r)>>1;

Build (lson, 1, mid);
ld (rson, mid+1, r);

// FEHE, BHNEFXTRER

/] EEN—REBR— N pushup(rt);
tree[rt].sum = tree[lson].sum + tree[rson].sum;
tree[rt].max = max(tree[lson].max, tree[rson].max);




S PR —— R R T

o BT I R BT, N
BATE S8 )3 B 5T M =

Pt e, B T— N max = 6
BRI E S F @ @

i -
DA EHLY () () (@) (e

R S S




void Update(int rt, int pos, int val) {

if (tree[rt].1 == tree[rt].r) { // REITIRIHIH-FF
tree[rt].sum = tree[rt].max = val;
recurn;

}

int mid = (tree[rt].1l + tree[rt].r) >> 1;

if (pos <= mid) Update(lson, pos, val);

else Update(rson, pos, val);

// EEHRXTSER

tree[rt].sum = tree[lson].sum + tree[rson].sum;
tree[rt].max = max(tree[lson].max, tree[rson].max);
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// BEITIRArt, 2EEHNXERL[L, r]
int Query(int rt, int 1, int r) {
// RTDRFTNXEZEEWXENESSE
if (1 <= tree[rt].1l && tree[rt].r <= r)
return tree[rt].sum;

int mid = (tree[rt].l + tree[rt].r) >> 1;

if (r <= mid) return Query(lson, 1, r);

else if (1 > mid) return Query(rson, 1, r);
else return (Query(lson, 1, r) + Query(rson, 1,
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vold Pushup(int rt)
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tree[rt].sum = tree[lson].sum + tree[rson].sum;

tree[rt].max = max(tree[lson].max, tree[rson].max);
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struct Node {
int 1, r; // 79 RN X [H]

int max, sum; //

aloF HoAth ZahE

int lazy; // 3JEIRFRIC

Hree[MAXN << 2];
P I AR B S BT, R S — R




Xia]$EHT: [1,5] add 5

[ [4.5]E%H
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lazy+=5 TR
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sum+=5%(5-4+1)



lazy=0

X 8] $E#T: [1,5] add 5
sum=[4,5]+[6,6]=10

lazy=0 @

sum=[1,3]1+[4,6]=25







X|a]&#T: [1,3] add 7

lazy+=7 k/

sum+=7%*(3-1+1)
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X 8] $E#T: [1,3] add 7

lazy=0 @

sum=[1,3]+[4,6]=46




// BHEIT RrtHEERIRC TREIEEILF
void Pushdown(int rt) {
if (tree[rt].lazy) { // T RBEERIRC
=

int 1z = tree[rt].lazy;

tree[rt].lazy = @; // I2FEEE

tree[lson].lazy += 1z;

tree[rson].lazy += lz;

tree[lson].sum += 1z * (tree[lson].r - tree[lson].l + 1);
tree[rson].sum += 1z * (tree[rson].r - tree[rson].l + 1);




void Update(int rt, int 1, int r, int val) {
// BEFXEEEEET RRTHXE
if (1 <= tree[rt].1l & tree[rt].r <= r) {
tree[rt].lazy += val;
tree[rt].sum += val * (tree[rt].r - tree[rt].1l + 1);
return;

}

// MNRARETEER, WNFER FEH, ZETFRURC
Pushdown(rt);

int mid = (tree[rt].l + tree[rt].r) >> 1;

if (1 <= mid) Update(lson, 1, r, val);

if (r > mid) Update(rson, 1, r, val);

Pushup(rt); // BEHxRIRICHSERHRIAT T RIER




int Query(int rt, int 1, int r) {
// BFXETEEEET RRTHIXE
if (1 <= tree[rt].1l & tree[rt].r <= r) {
return tree[rt].sum;

}

// MR EETEES, WNFEERATEEH Z TR
Pushdown(rt);

int mid = (tree[rt].l + tree[rt].r) >> 1;

int val = 9;

if (1 <= mid) val += Query(lson, 1, r);

if (r > mid) val += Query(rson, 1, r);

return val;




/5. POJ 3468 A Simple Problem with Int
Al A —HE TP PAT PR R E

"C ab c" means adding c to each of Aa, Aa+1, ...
-10000 < ¢ < 10000.
"Q a b" means querying the sum of Aa, Aa+1, ...,




ZANGIRAWE)
struct Node

d

int 1,r;
Il add, sum; // add/E N IEIR B 15
Hree[M<<2];

1L A[M]; // TR E 3
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voild Build (int u,int left,int right) {
tree[u].l = left, tree[u].r = right;
tree[u].add = 0;
if (tree[u].l == tree[u].r) {
tree[u].sum = A[left];
return ;

)

int mid = (tree[u].l + tree[u].r)>>1;
Build (u<<l1,left,mid);

Build ((u<<I)|1,mid+1 right)

Pushup(u); // 513 B 3 2R 25 mufsumf{g




AN
void Pushup(int u) {
tree[u].sum = tree[u<<l].sum + tree[(u<<1)|1].sum;
return ;
h
void Pushdown (int u) {
tree[u<<l].add += tree[u].add;
tree[u<<l].sum += (tree[u<<l].r - tree[u<<1].1+1)*tree[u].add; /I
A&k i fadd
tree[(u<<l)|1].add += tree[u].add;
tree[(u<<l)|1].sum += (tree[(u<<1)|1].r - tree[(u<<1)|1].1+1)*tr

tree[u].add = 0; // LEIR BT RE 7] N A% 126 58 22 K B0
h




AN BIARHS

void Update(int u, int 1, int r, int val) {
if(tree[u].I>r || tree[u].r<1) return ; // 58 & AEIX X 8], Hal!
if(tree[u].1>=1 && tree[u].r<=r) { // B X (A1 AL 4 AT 45 2
tree[u].sum += (tree[u].r- tree[u].l+1)*val;
tree[u].add += add;
return ;

)
if(tree[u].add) Pushdown(u);

update(u<<l, 1, r, add);
update((u<<l1|1), 1, r, add);
Pushup(u);




AN BIARHS

int query(int u, int 1, intr) {
if(tree[u].>r || tree[u].r<l1) return 0;
if(tree[u].>=1 && tree[u].r<=r) {

return treefu].s;

h
1f(tree[u].add) Pushdown(u);
int ret = query(u<<1 L, r) + query((u<<l)|1, 1, r);
Pushup(u); // iX B A] U\/T\ ;5
return ret;
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for(int 1=1; 1<=n; 1+

scanf("%d",&hh
build(1, 1, n);
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